20228 JAFALBES!) —EFHE F38 / 2022F IMRCILIEETEINS ' — 1) — X 538 / 20224EXCRRAT YU by THLiEE F 38 Jun19 2022
ARw L RT—IURRR (BE
[ss| 4 ] [ Course [SSS SHITANOHOU 2 [Length Gm)] 116 |
Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time Diff (Prev)| Km/h Pos No Class | Pos| Driver / Co—Driver | Time (Pen) |Diff (Prev)
1 1 Ch-1 1K A 1:01.6 - 67.79 1 = 1 Ch-1 1 (WK =A 2:51.2 -
EH BNE % NE
2 2 Ch-1 2 (B8 EA 1:02.9 +1.3] 66.39 21 =1 4 Ch-1 2 [WE - 2:55.8 +4.6
wmhl |F (+1.3) wT RBF (+4. 6)
3 4 Ch-1 3 (B #— 1:03.0 +1.4] 66.29 3 [+3] 2 Ch-1 3 (B EA 2:56.8 +5.6
L (+0. 1) whl J|FE (+1.0)
4 | 10 | ch 4 |Bi5 BA 1:03.4 +1.8] 65.87 4|-2] 6 Ch-1 4 |EFHE A 2:57.0 +5.8
B% BE (+0.4) FH  thk (+0.2)
5 7 Ch-1 5 [IREF = 1:03.6 +2.0| 65.66 5| = 5 Ch-1 5 |B&ZE  F5A 2:57.1 +5.9
FER B (+0.2) AW BEF (+0. 1)
6 5 Ch-1 6 |B&iE  #05h 1:04.1 +2.5| 65.15 6 | +1] 10 Ch-1 6 |BiE BA 2:57.6 +6.4
AM BEF (+0.5) B8F EBE (+0. 5)
7 6 Ch-1 7 |£% oA 1:04.2 +2.6| 65.05 71-5] 11 Ch-1 7 Wk &t 2:58.4 +71.2
FEH s (+0. 1) W OEE (+0. 8)
g8 | 3| o1 | 8[|KEE B 1:05.0 +3.4] 64.25 8 |+1]| 7 | o1 | 8 |BH = 2:58.7 +1.5
#H BB (+0. 8) FES (+0. 3)
=8| 9 Ch-1 8 |BE: KA 1:05.0 +3.4] 64.25 9 [-1] 9 Ch-1 9 |&BiE &A 3:00.0 +8.8
A% Ih (+0.0) A% Ih (+1.3)
10 | 11 ch-1 [ 10 [lLE #Ht 1:05.6 +4.0] 63.66 10 =1 3 ch-1 | 10 [K#B & 3:01.7] +10.5
W OEE (+0. 6) #H ES +1.7)
=10| 35 CI-A 1 |5iE #BE 1:05.6 +4.0| 63.66 11| = | 24 Jr-1 1 [;)kE # 3:07.6 +16. 4
ArE /AR (+0.0) KHE K= (+5.9)
12 | 20 Ch-3 1B $RER 1:07.0 +5.4| 62.33 12 = | 28 XC-2 E: 3:09.0 +17.8
BF #-— (+1.4) =g X8 (+1.4)
13 | 24 Jr-1 1 [;xA & 1:07.9 +6.3| 61.50 13| =1 8 ch-1 | 11 | Kk H— 3:13.9| +22.7
KHE KHE (+0.9) oL E=RF (+4.9)
14 | 34 CI-A 2 |IBE REAE 1:08. 6 +7.0| 60.87 14| = | 16 Ch-2 1 (lUA EERR 3:14.0 +22.8
FE TR (+0.7) KA = +0. 1)
15 | 17 Ch-3 2 | EE 1:09.1 +7.5| 60.43 15 = | 13 Ch-2 2 [IRA E3 3:14.7 +23.5
WH &= (+0.5) B fli— +0.7)
=15| 18 Ch-3 2 A =E35h 1:09.1 +7.5| 60.43 16| = | 15 Ch-2 3 [lLE #B— 3:15.3 +24.1
A EF (+0.0) Kk EXER (+0. 6)
17 | 28 XC-2 1|85 W 1:09.2 +7.6| 60.35 17| +4| 20 Ch-3 1 |2 $GER 3:16.4 +25.2
B =1 (+0. 1) B¥ #— +1.1)
18| 22| ch-3 | 4 |[#Ex EFT 1:09. 4 +7.8] 60.17 18| +1| 34 | cr-A 1 |BE EAR 3:17.3|  +26.1
XKBA HF (+0.2) HE T8 (+0. 9)
19 | 13 Ch-2 1 [IRA E3 1:10.1 +8.5| 59.57 19| -1| 32 Op 1 |y +PEEg 3:20.3 +29.1
B f— (+0.7) it =i (+3.0)
20 [ 15 | ¢ch2 | 2 [lUA #H— 1:10.5 +8.9[ 59.23 20| -3 26 | Jr2 188 B¥ 3:20.6] +29.4
K EXER (+0.4) HEt 6 (+0.3)
=20 | 19 Ch-3 5 [R HhIE 1:10.5 +8.9| 59.23 21| +8| 35 CI-A 2 |gIsE BE 3:20.8 +29.6
Nt EE (+0.0) I A (+0. 2)
22 | 21 Ch-3 6 Izl —E 1:11.1 +9.5| 58.73 22 =1 21 Ch-3 2 [zl —E 3:21.0 +29. 8
Lz # (+0. 6) Wz = (+0.2)
23 | 30 XC-2 2 |FgH & 1:11.2 +9.6| 58.65 23| -3 | 12 Ch-2 4 | 8@ —= 3:23.6 +32. 4
BEA BE (+0. 1) RFH BA (+2. 6)
24 | 16 Ch-2 3 (WA ERE 1:11.8 +10.2| 58.16 24 -1 | 14 Ch-2 5 | A 3:24.9 +33.7
KA = (+0. 6) mE LS (+1.3)
25 | 32 Op 1 [ +mEd 1:12.1 +10.5] 57.92 25| +6| 18 | ch-3 | 3 |EEME =5k 3:25.1 +33.9
miE =& (+0. 3) A ¥ (+0.2)
26 | 26 Jr-2 1 |1:RE EF 1:12.7 +11.1| 57.44 26 | +4 | 30 XC-2 2 |l & 3:27.0 +35. 8
HL B (+0. 6) BIE RBREZE (+1.9)
27 | 8 Ch-1 [ 11 [ Kk B— 1:12.8]  +11.2| 57.36 27| -1 37 Cl-2 1 |As I5E 3:27.4] +36.2
b ERF (+0.1) HE A& (+0. 4)
28 | 37 Cl-2 1 |Hf I5E 1:12.9 +11.3| 57.28 28| -3 23 | ch-4 1 |EH = 3:27.8| +36.6
A & (+0. 1) GEE M (+0.4)
20 [ 14| ¢ch2 | 4 |RB ABF 1:13.1 +11.5] 57.13 29| -1 33 Cl-A 3 |&£F KE 3:28.2| +37.0
®’E LOS (+0.2) HE EE (+0. 4)
30 | 23 | ch-4 1 |EH = 1:13.4 +11.8| 56.89 30| +3| 22| ¢ch3 | 4 |HE EF 3:29.0[ +37.8
SR M (+0.3) XBA HE 0:10)| (+0.8)
31 [ 33| cA | 3 [&F KE 1:13.5]  +11.9] 56.82 31| +4| 17| ch3 | 5 |@ EE 3:29.1 +37.9
HEA EZ (+0. 1) wmH EZ (+0. 1)
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Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time Diff (Prev)| Km/h Pos No Class | Pos| Driver / Co—Driver | Time (Pen) |Diff (Prev)
32 | 12| ch2 | 5 |8@ —3 1:14.7 +13.1] 55.90 32| -8 39 Cl-2 2 =@ K#t 3:29.5| +38.3
FH EA (+1.2) o BX (+0. 4)
33 [ 27 | U3 1|98 BR 1:15.6[ +14.0| 55.24 33| +1| 19| Ch3 | 6 [R *#HIE 3:30.2[ +39.0
& mF (+0.9) Nt fEE (+0.7)
34 [ 39 Ccl-2 2 (=7 Kt 1:15.7(  +14.1| 55.17 34 -7 25 | Jr2 2 |[/INFF i 3:31.1]  +39.9
o BX (+0.1) NEFE HETF (+0. 9)
35 | 41 cl-2 3 |hi; —# 1:16.0[ +14.4| 54.95 35[ -3 36 Cl-2 3 |RBE B 3:38.4] +47.2
FH X% (+0.3) =K = (+7.3)
36 | 25 Jr-2 2 [/NEBFEF &S 1:16.5 +14.9] 54.59 36 [ +1 ] 41 Cl-2 4 |{Ki5 —H) 3:39.1 +47.9
NFE HEF (+0.5) FEH X& (+0.7)
37 [ 29 | X2 | 3 [ #B 1:16.8] +15.2| 54.38 37| -1 29 | xc-2 | 3 [%8 ER 3:39.5( +48.3
% X (+0.3) B AKX (+0. 4)
38 | 36 Cc-2 | 4 |FBAR 5 1:19.7(  +18.1| 52.40 38 = 27] Jrs 1|l BR 3:39.9[ +48.7
=K = (+2.9) &Y EmF (+0. 4)
39 [ 40 [ cr2 5 [/hk KA 1:19.8] +18.2| 52.33 39 =] 40| cr2 5 [/hE KA 3:44. 6] +53.4
ER Wt (+0.1) BER #t (+4.7)
40 | 31 | xc-1t | 1 [F#EHY HE 1:21.8]  +20.2[ 51.05 40| =131 ] xc-1 [ 1 [0 BZE 3:51.7| +1:00.5
mE EH (+2.0) mE ER +7.1)
41 41

*1 . $ERIFREIE 1455 12&5(SSS)
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